

















9

11



Infinite Series

In such cases, the starting value for the index must be taken from the context of the statement.

To find the sum of an infinite series, consider the following sequence of partial sums.

 $S_1 = a_1$ $S_2 = a_1 + a_2$ $S_3 = a_1 + a_2 + a_3$ \vdots

 $S_n = a_1 + a_2 + a_3 + \cdots + a_n$

If this sequence of partial sums converges, the series is said to converge.





Example 1(a) – Convergent and Divergent Series The series $\sum_{n=1}^{\infty} \frac{1}{2^n} = \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \cdots$ has the following partial sums. $S_1 = \frac{1}{2}$ $S_2 = \frac{1}{2} + \frac{1}{4} = \frac{3}{4}$ $S_3 = \frac{1}{2} + \frac{1}{4} + \frac{1}{8} = \frac{7}{8}$ \vdots $S_n = \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \cdots + \frac{1}{2^n} = \frac{2^n - 1}{2^n}$ 14

Example 1(a) – Convergent and Divergent Series

Because $\lim_{n\to\infty} \frac{2^n-1}{2^n} = 1$

it follows that the series converges and its sum is 1.

Example 1(b) – Convergent and Divergent Series

Does the following series converge or diverge?

HOW do we decide?

$$\sum_{n=1}^{\infty} 1 = 1 + 1 + 1 + 1 + \dots$$

15



Example 1(c) – Convergent and Divergent Series contid Does the following series converge or diverge? HOW do we decide? $\sum_{n=1}^{\infty} \left(\frac{1}{n} - \frac{1}{n+1}\right) = \left(1 - \frac{1}{2}\right) + \left(\frac{1}{2} - \frac{1}{3}\right) + \left(\frac{1}{3} - \frac{1}{4}\right) + \cdots$

Example 1(c) – Convergent and Divergent Series contid The *n*th partial sum of the series $\sum_{n=1}^{\infty} \left(\frac{1}{n} - \frac{1}{n+1}\right) = \left(1 - \frac{1}{2}\right) + \left(\frac{1}{2} - \frac{1}{3}\right) + \left(\frac{1}{3} - \frac{1}{4}\right) + \cdots$ is given by $S_n = 1 - \frac{1}{n+1}$. Because the limit of S_n is 1, the series converges and its sum is 1.



Infinite Series

Because the *n*th partial sum of this series is

$$S_n = b_1 - b_{n+1}$$

it follows that a telescoping series will converge if and only if b_n approaches a finite number as $n \to \infty$.

Moreover, if the series converges, its sum is

$$S = b_1 - \lim_{n \to \infty} b_{n+1}.$$

21



Geometric Series $f_{n} = f_{n} = f_{n} = f_{n} = f_{n} + f_{n} +$







Examples: Geometric Series $\sum_{n=1}^{\infty} \frac{1}{2^n} = \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \dots$ Each term is obtained from the preceding number by multiplying by the same number *r*. Find r (the common ratio) $\frac{1}{5} - \frac{1}{25} + \frac{1}{125} - \frac{1}{625} + \dots \qquad \frac{2}{3} + \frac{4}{3} + \frac{8}{3} + \frac{16}{3} + \dots$ 27

Examples: Geometric Series

$$\frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \dots \qquad \sum_{n=1}^{\infty} \frac{1}{2} \left(\frac{1}{2}\right)^{n-1}$$

$$\frac{3}{5} - \frac{12}{25} + \frac{48}{125} - \frac{192}{625} + \dots \qquad \sum_{n=1}^{\infty} \frac{3}{5} \left(-\frac{4}{5}\right)^{n-1}$$

$$\frac{2}{3} + \frac{4}{3} + \frac{8}{3} + \frac{16}{3} + \dots \qquad \sum_{n=1}^{\infty} \frac{2}{3} (2)^{n-1}$$

$$28$$













Example 5 – Using the nth-Term Test for Divergence	
a. For the series $\sum_{n=0}^{\infty} 2^{n}$, you have:	
$\lim_{n\to\infty} 2^n = \infty.$	
So, the limit of the <i>n</i> th term is not 0, and the series diverges.	
b. For the series $\sum_{n=1}^{\infty} \frac{n!}{2n!+1}$, you have:	
$\lim_{n\to\infty}\frac{n!}{2n!+1}=\frac{1}{2}.$	
So, the limit of the <i>n</i> th term is not 0, and the series diverges.	35

35

Example 5 – Using the nth-Term Test for Divergence **c.** For the series $\sum_{n=1}^{\infty} \frac{1}{n}$, you have: 36





Does the following series converge or diverge?

$$\sum_{n=0}^{\infty} \frac{4n^2 - n^3}{10 + 2n^3}$$